Sy

1%k

JRER=%H ECP

BAY X7—IN2EHE

2

00 25 30 45

20 40

10

00 05 23 55

11

12

13

14

15

16

00

17

18

19

20

21

1%k

[RER==1FCP

2

7

8

9

10

11

12

13

14

99

15

16

35

17

18

15

19

25

20

25

21

X FRRICOVTOFE]
FAMERBEADISEIXRERICITUEFVFETA, REREROSEXFMERIZIXLEFTFYEEA,

X RiECEBORHIKTICEY, HIENENDGEEAHYFET DTIEL TS,

X A= IVINADBEICLHIRFDELFEBOONFE A, (BERAFHYFEA.)
RIS RBEF > TTFIALESLY,

X BEVEDHLE BHAOXOXREKRIAESH MEEEFT 0561-38-8470

7% |&TEECP=>=1¥CP
2l | XFEMER ARER
@ FEREFEY

7 %50

8

9 %30

10 %40

11 %40

12 %30

13 %40

14 A40

15 @50

16 A20

17

18 A00

19 A10

20 A10

21
1% FrithER= = 4FCP
e —

7

8 15

9 50

10

11 00

12 00 50
13

14 00

15

16

17

18

19

20

21

2024428 HE
1% |=iFCP=>®&HECP
Bl | XFRMER ARER
7 A50
8
9 A30
10 %40
11 %40
12 %30
13 %40
14 %40
15
16 %20
17
18 00
19 X10
20 X10
21 00
1% | FitBR=>%HECP
FEH —
7
8
9
10
11 10
12 10
13 00
14 10
15 10
16 50
17
18 30
19 40
20 40
21 30




